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Because he had a difficulty — 7% ROWPT WD

OVERVIEW

The X n3 is presented with a difficulty to reconcile our mwn (which we
interpreted to mean that even if the Mm% admits we do not return the W to
the m7n, since we are concerned that »Wwn v M X7 19232 MYY 202 ’1w) and
another 71wn which states that ¥y Mm% PRY 2"yX M5% 20w 17201 (and we are
not concerned for 121 M%7 an> XnW). *0X 21 answered that the 7awn of am>
"2 is discussing only AR MWW, but our 71w discusses a regular 70W. Even
though by a regular "vw we are not "121 1°2n12, nevertheless since this MWW
was lost we are concerned that perhaps the 2°7¥ signed on a ww where 2n3
"3 70712 MY%. However X maintains that the rule of 121 1°2am13 applies to all
NNLW since 17 P27 1MINNA 17V (so there is no issue of a a7PM W), [The X723
shortly concludes that in our 71wn we do not return the 70¥ according to X
because we are concerned that the Mm% paid and they are making a X*111p on
the mmp>.] The X M explained the reason *2X argues on °OX 27 (and
maintains 17 7°37 1°"m0172 1°7Y) is because if we assume (as *oX 27 does) that we
are 1212 only by AXip7 ww, then we should not be concerned (in our 7Iwn)
that since this 70w was lost perhaps it was a case where 121 j0°12 Mm% an>.
Our mpoIn ponders the connection between s™2X rejection of s™OX 27
reasoning (that since it was lost, it could be that 121 10°312 m%% 2n2), and his
ruling of " 1727 1NN PIY.

mooIn explains that the phrase 1% Xwp7 0wwn refers -
—1yrany

to 992N, It was *a& who had a difficulty with the reasoning of *ox 2.

nooIn asks:
- 123% 12NN 7Y 91399 7989 NY 72 Yrawat Nnon

It is astounding! For because of s""aX rejection of °0X 237 it was not

necessary for »2X to maintain that Y9 1957 1"230172 ¥97¥. mMoon expounds on his
question -

—YON 295 1297 PNRT 1202 12aNT
For even if »2X would agree to o8 27 that the 0°7v are not ¥ 927 and the

72w begins only at the time of the loan (not the signing of the VW) -
— ANIPN PIVVWA MYY YOV PAMOY PPNINN)

"' In other texts as well as in the 7"mn the word »ax> is part of the 7"7; i.e. »aR? 77 RWPT DWN.

1

TosfosInEnglish.com



own "7 'oIn R, " .72

And he will also agree with "OX 27 that the 71w which states that 3°anm13

m9% 2w even though the M%7 is not there, is only by mRIP:7 "MWLW -
— 19595 NY 2119) Y9759 N9

And furthermore a2k will maintain that we are not concerned that

perhaps it happened that they wrote a “uw for the m> without the m>» being

present; he will disagree with "oX 17 (as he does now), nevertheless »2X can -
— 7799 2NV NNMIYN T

Establish our 2% in a situation where the 1 admits to owing the money -
- 201103 9RTD XN PPIDY 1PYNT DIVN NS XYY

And we do not return the W to the M%» because we are concerned that

there was payment and it is a swindle as the X7 states shortly and there is
no need to maintain 17 P37 121N PV,

N1v0IN answers:
—>YON 297 NIY 199 RN KY HARY XIWPT 0IUN 019 U

And one can say; that because of s'"aR difficulty with s"0X 27 reasoning

therefore 2k was not satisfied with s'"oX 29 answer that 2031 "px ’197 -
%195 1991 1529003 197Y AN MINTN IND KYY XY DY) 9N NNY)

* The xm3 shortly explains that according to »ax we do not return the Tvw even if the 77> admits to owing
the money because we are concerned that there is a swindle being perpetrated by M7 and the mb» [the
money was actually paid, but the m> will deceitfully admit that it was not paid, so the m>n will collect from
the nymp? (since the M? will claim to have no assets) and they will divide the monies between them]. This
answer can be said regardless whether we maintain 17 121 vmnma 7Y or not. Why does the X
[seemingly] say that *>ax maintains 12 137 1"mInn2 7Y because of his question on *oX 29?! There is no
connection between the two! We can maintain like *oX 17 that we are 12012 only by 7RIp7 0w since V7Y
mINMA are not 17 %31 and in our 7awn we do not return the VW because RONIPHY WD WM.

3 »ax reasoned that there can be no concern of 19°12 M%7 2n3 in our Mwn (certainly not if we maintain V7V
17 121 PINna, but) even if we maintain like *oX 27 that only by X3P 70w is there a Tayw from the time of
the signing of the 7vw, nevertheless there is no concern by other n1uw of j0°12 M?% 2n3, since we are not
authorized to write a regular 70w for the Mm% without the 7791 being present. There is no reason to think that
perhaps the scribe and the 0’7y violated this rule.

* See w"x1 MO (and *"10) who explains this as follows. 2k maintains that the 7awn of 21 M%7 VW Pam>
is discussing all types of MW (since the 71wn makes no distinction). The reason that we may be W 12m3
9% (and not be concerned that it is a 2771 7WW) is because 17 Pa1 PMINA2 7. However if we maintain
5"may then there is a difficulty with our m1wn; why indeed do we not return the 0w if 779 2°1. The answer
of X1 1y is far fetched, and therefore we will be compelled to accept the ruling of "oX 17 that 72am>
Y% 70w is only for X1 VW and by a regular Tvw there is the concern of 121 70°12 M7 205 XMW (which is
more likely that the wwn of X°11121 17519). However »ax has a difficulty with *ox 21 for if m%? qow Pand is
only by 1X1p77 *vw, then there can be no concern of 0°12 M?2 an> XAW by a regular W, since we do not
write a regular q0w unless the M7 is present. Therefore since **aX has a difficulty with the explanation of
0K 27, and our 71w~ is not reconcilable with the mwn of 7177 AW 1am> (according to oKX 27 in the view of
"R [unless we say X°11p91 1197 1w n]), so P2k would rather maintain that m?% quw Pamd is by all mww
(as the simple meaning of the m1wn indicates) for 9"y, and as far as our 73wn is concerned we have no
choice but to assume that X°1p21 1Ww1o% 11w n. This explains (somewhat) the phrase ™2 Xwp7 own' and
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However this dissatisfaction is an issue on its own, and indeed it has no
bearing on this which 28 maintains that ¥ 1757 Y2172 179,

SUMMARY
»ax independently maintains that Y7 1271 121012 1°7v. He also independently
maintains that in our 7wn there can be no concern of 19712 M 2N RAY.

THINKING IT OVER
According to Mo0IN when *°2aR states in our X713 that 12 1°31 1I0n2 17v; what
was he referring or responding to?

answers the questions of the 7w 2" (*"w"92 7" 72) R"WIA.
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